o | %
o e 7 e ’ . x\ :,\
F .

\
" DPEN (@ cuit” = 1 Solo Pvcr+ g
|
/’M‘-’)O-’j /{ ) .
e Lin ok, ///m =R D B
Ll
. L :/}/@ Aiple
’! //
w1 { ArdrL
0{/&'1; {C\‘ i ! 5
s i
IS PARAMETERS '
S DQr:m _ . ;/.
SP1 P | hhafs o piil
Start=.5 (GHz
Stop=3 GHz
Step=.1 GHz )
Term o
Termi TLOC —
Num=1 TL
7=50 Ohm Z=50.0 Ohm
) E=30
e BT F=2 GHz .
«),w///j’
P\I\ Term J-wad— P""“"h#i

co locarat

T.
RIZ
Ca . Qm: SIEMPRE

%"
k )
Son o.¢ .
L -

l




e
ml
freqgq=2.000000GHz '
oc¢..5(1.,1)=—1.000000 — |1.224606E-16
impedance = Z0 * {0.0000000 — j1.12e=017)
36HE
*S EWY

. .IAtk. tuwﬂv treq (S00.000MHz to 3.000GHz}

Loge l;ﬁf S< F= .seux

-e--_F_Q: vEI':,L: .2'_':-(3?.5';(!-‘
2 * A
A 9:%9 (3;.sa<|o"):zas° |

B Ao e
L=7 7 G ek e |
\, " |
4= 3x1:a zx|3: 32.5 %10 m S -}._-_36,“_ == 9‘—4!35"




—

D2k 3

Linta &~Th%www;mh i'PﬂdaA%QQJJ

2
S PARAMETERSI
S_Param TLN
SP1 ~ TLA1
Starti=,5 GHz Z=50.0 Ohm
%topff) GHz E=90 -
Step=.1 GHz F=2 GHz
+ ¥ Term e H
Termil R1
N U= 1 R=300 Ohm
=50 Ohm
f&.= 2? =0

g

<




s(1,1)

=t (8. 747188E-17
(0.1666665 — [5-09e-018)

untitledl.

GO)(O-I“): 833;\_

freq (500.000MHz to 3.000GHz)




| Aar&~ 360 a
Z ' \} 300 (5'0)

’S PARAMETERS '

S_Paoram

SP1

Start=.5 CGHz
Stop=3 GHz
Step=.1 GHz

]

So o ‘2/
=122 4% 53
TLiN T =
TL1
Z=122 .47 Ohm
F=90
F=2 GHz
R
R 1
R=300 Ohm




m
freg=2.000000
untitiedl..S(
impedance Z

=fy ]j6.2498614E-17
(0.9999260 — j2+99%e-018)

1)

LS

hel
©
c
&

Q@ 2 e freq (300.000MHz to 3.000CHz)
£, = SoJL




’

dnaa J-'-TWMJ?\-

IS PARAMETERS '

S_Pargm

S

Start=1.0 GHz
Stop=10.0 GHz
Step=1.0 GHz

\®

P1 5
Num=1 Numz=2
= -3~ e,
Q £ =2
——_— TLIN .
Le”fl ;i;o Ohm Term2
um= B Num=2
EmED Shm £=90 7=50 Ohm
= F=1 GHz -




Parametros S :

Magnitud ( [S] ) :

dB(
dB|

Yoo
l P
b oos
8% .
o 08
o5 |
g8 o4
EE ,
. 0.2
ocﬁ—nr.j—jﬂ—rer.J 0"?—. —— 44,1 J,-,—,——J
2 3 4 s & 7 8 9 10 12 3 4 5 8 7 8 9 10
freq, GHz freq, GHz
a6
; 2
EndB(201log |S}): f_7$'zlag ,‘76;
| 1
-204
ey »40-
ouey 4
N
Ga ]
S5 =
-1zcl. ; 1 ,l , 4 20— — — ¥
7 9 1 10

2 3 4 5 6 4 1 2 3 4 5 6 7 8 8

freq, GHz freq, GHz




